ol
™
or

1.

@ 7¢A B® 9¢ecA @ 2¢A B 4eA

@D 3¢A






3. AT A= (x| x=100°]5t 39] vj5} o] B

@ {3, 4, 5, 6} @ @
@ (x| x=100]512] &5} @ {3}

® (x| x=99] k)



tdA=B< o,

5]

[y
3
)
<
l_l
x
o~
[
=
I
QL
= o
hd
5
s 4
= o_%
Il m
=9l
,__mw e
N
o
T

@ 2 3 3 @ 4 3B 5

D 1



v}
mlo
ol
go
N
2.
rlo
Y
Mo

o)

@ n({e}) =1
© Ac B OJ¥, n(A) <n(B) |t}
© n({x|xE 1XET} 33 3HT} 22 &) =2

@ n(A) <n(B) °|'H A c B o]t}

OO, ©60,0 ®0.6 ®o,e 6,6




6. TS E 2 gL AL RE vEW(F 2 )

D AUA=A @ AU =0

® (AnB)CB @ BcACO|HANB=A

® Bc (AUB)



7.

AA™G U ={a,c.de, f} O] F HEHT A = {a,c,d},B={c.d, e}
of tfste] th #ll tholoj I o] A H HE-S Yet= J2?

U

@ {a,b,c) @ f{a,b, f} ® {a,c,d)
@ A{a,e, f} ® {b,c, f}



8.

AAHTL U = {a,b,c,d, e} O] F F-&
thste] An Be 27



9.

;\ﬂiﬂ%ﬂ]a—ﬂj—lj:{]w 2’ 33 Y 100}9’]%:‘

E59 i), B= (x| x= 5 &

T = =

@D 30 @ 40 ® 50



10. 128 20 74712] A% % 2 o] ¥50] 75k 3 2] Wj47} opdl 9]
M2

@D 574 @ 670 ® 778 @ 87f ® 1074



N

11. o5 27 S A A2 25 2 A7

@ 4 B} 22 2o 1Y

© Hoheg & A= Al 24

© 1 Htt 27 2 B} 2 4] 2 Y
® 7 9] Higo] 2

@ 30341 °f] Yeb 9= seAte] 2ol

@D 17 @ 270 ® 37} @ 4 7 G 5 7}



® P20 £A459 B - 5H 2 A5 7Y

=

2t A Fol 22 sHIE9] BY— eutolA o] 2

1" O =
@ A7 BE =0 29 5 A7} AL mA0 2]
® 7|7t ZE S| Bel - 7|7} 2 S| mel




13.

100]8}] 39] HjZ=9] ATtS § @ty &

ArE ghotet,

[33 g So ¢

a7t gael) (ox W se 2

27} o}uFJ

72 A% 5o Yaop






A A

15. g% %

rO](

A

]

29

@ {x]|x2 olato] A
@ (x|xE 0xx=1% %)

® {x|xe= 0<x< 1%l 7]oFE)
@ (x|xE 50 0]REe] 79 Hi5)

B (x| x= 5xx =129 FAZ



16. Aﬂ 3t A, B, C ©f ti5}o]
= {x]x= good friends 2] &Ttall 212},
= {x|lx = 4 ©]4F 7 °o|o}<] 49] v},
= {xlx = EA 127} & o,
(A) +n(C) - n(B) & T35z},

Yk
=%



17. AAIT U = {xix A5} o REUT A L5 B A AAsan
o101 itk 7K@ W A 9 A4E Totolel.

B = 7



18.

11, 13},
g x 9 7H

7h

= {9 11, 13, 15, 17} ol tisled Ac X c B

e



19. Al A% A = (x| x= 10°]5+2] A4, B = {4,6,9,12} , C = {x |
x 289 oF4) o Histe] (AuB) N C =7

D {2,4,7,14}

@ {1,2,4,7,14)

® (1,2,3,4,5,6,7,8,9,10,12}
@ {1,2,4,7)

® {1,2,7)



jille
ofN

AUB = (x| xE 89 9k}, B = (x| x= 3 17| A<

@ {1, 4, 8)

@ (x| xE129] o)

® (4, 8

@ (x| x=80]5k 49 i)

® (x| x= 1Kt} 2 89] ok}



Q]
=

{2, 4

{2, a, a+1}°]2LANB
P28 270)

S

{1, 2, 4}, B
4ol

21. A

g7

=

9

® 13

® 10 11 12

@D 9



® B

@ A

D (AN B)
@ B

G U



23.

(N1g UN12) € Ni & W5t ko] HHghS

g
.



AAH} U =11, 2, 3, 4, 5,6,7,8) & 7+ F2H A, B °fl st
A=1{1,4,5T78,AnB={1,48 €W AL Bt 2 =+ A=
H
B

@D 278 @ 4 74 ® 8 7H @ 16 7 3 32 7



® 9 3 10 @ 11 B 12

@D 8



26.

A A3t A, B, C ol st

n(A) = 50, n(B) = 32, n(C) = 15, n(AU B) = 70, n(ANC) =
15, n(BNC) =0 & o,

n(AUBUC)+2xn(AnBNC) 9 kS 5ozt

e
=%



27. A A {x|xi= 20 ©]5Fe] 39 Hlj4e),
{xlx= 129] <F=,

= {x]x= 20 ©]5te] &)

A
B
C

@ (5,7, 11, 13, 17, 19}

® {1, 5, 7, 11, 13, 17, 19}
® 1, 3,5, 7, 11, 13, 17, 19}
® (1, 5, 7,9, 11, 13, 17, 19}

® {1, 5, 7,9, 11, 13, 15, 17, 19}



28. AAAF v = {ax=150l5t8] &5} o Histol A =
{1, 3, 7, 11}, B={7, 13} & wf, th5 B7]olA &7 ¢ A7
H7]

@ ANB={7)

© ANB ={1, 3, 7, 11}

© A°N B ={13)

® A°UB ={l, 3, 5, 9, 11, 13, 15}

@ A°NB°={5,9, 15}

YR
=%



29. A=1(2,4,6 810),B=1{1,2, 3,4, 5} Hglad AUX =A, (A -
B)NX =A-B 5 WEsh= 9t X 9 40

D 4 74 ® 8 7H ® 16 7 @ 32 7 3 64 N



30.

D 1174

13- X, ¥ of tiste] A4t e XoY = (XUY)N(XUYe) =
of| A 307kx] 9] A= F 2 9] v, 39 i, 5 9] 4=
Zt A, B,C 2t S ufl, (Ao B) o C 2] 949] 7|42

@ 1274 3 137§ @ 1471 3 1570



@ {a}cS
© {b, c, d}eS

@ {c, d}cS

© {b}eSs
® ceS,deS

® S cla b, c, d)




ol

20] A7t Aol 1 /iRl F2 ] A= 15 7ol n(A) £

<l

?.

o=t

S



33. A% A, = {dn<x<6nt5 neAA%) o dote] 5(n) = Ay 0
Asnr-N 4, 012k BIFTE n(S(n)) > 1S WSS 1 o] HAGS
Fajozt,

YEE
-



